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H=3130,  (1.0440+1.0050) X 3. 13X 1. 00 m 6. 41
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1690 (1. 00+1. 0440) X 1. 69X 1. 00 m 3.45

1770 (1. 00+1. 0440) X 1. 77 X 1. 00 m® 3. 62

2120 (1. 00+1. 0440) X 2. 12X 1. 00 m® 4.33

2370 (1. 00+1. 0440) X 2. 37X 1. 00 m® 4. 84

2420 (1. 00+1. 0440) X 2. 42X 1. 00 m® 4.95

2450 (1. 00+1. 0440) X 2. 45X 1. 00 m® 5.01

2670 (1. 00+1. 0440) X 2. 67X 1. 00 m® 5. 46

2700 (1. 00+1. 0440) X 2. 70X 1. 00 m® 5.52

2600 (1. 00+1. 0440) X 2. 60X 1. 00 m® 5.31

2850 (1. 00+1. 0440) X 2. 85X 1. 00 m® 5.83
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940 (0. 3X0. 94+0. 40+0. 20) X 1. 00 m 0. 88
1130 (0. 3X 1. 13+0. 40+0. 20) X 1. 00 m 0.94
1230 (0. 3% 1. 23+0. 40+0. 20) X 1. 00 m 0.97
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2670 (0. 3X 2. 67+0. 40+0. 20) X 1. 00 m* 1. 40
2700 (0. 3X 2. 70+0. 40+0. 20) X 1. 00 m® 1.41
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2370 (2. 37-0. 64) /3+1. 00 m® 1.58
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1690 Hhm 2 —

1770 Hhm 2 —

2120 1. 0440X2.12X1. 00 Hhm ° 2.21

2370 1. 0440X2. 37X1. 00 Hhm ° 2.47

2420 1. 0440X2. 42X1. 00 Hhm ° 2.53

2450 1. 0440X2. 45X 1. 00 Hhm ° 2.56

2670 1. 0440X2.67X1. 00 Hhm ° 2.79

2700 1. 0440X2. 70 X1. 00 Hhm ° 2.82
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